5. Write short notes on any. three of the following : -

(a)
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(c) .

(d)
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Demand curve for labour under perfect competitibn
Economies of scope
Welfare cost of monopoly

Consumer choice under revealed preference.
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' AttemptAlI questions.
ol v i
1. Answer any three of the following : : : - 3x5=15

(@) A consumer consumes 2 goods X and Y with a fixed income; if the cross-elasticity of
demand for X with respect to Y is greater than zero then we can infer that her demand

for Y is reIatlver melastlc w1th respect to- the price of Y. True/False Why ?

P.T.O.



(b

()

(@)

(2) 1637

if a-firm’s average cost curves are U-shaped. 1he average variable cost curve achleves

*its minimum at a lower: level of output than average total cost curve. True/False

Explain.

-

A profit maxmnzmg, producer is employmg 8 workers currently He is considering whether

. to employ or not to employ an additional WOI'l\Cl The wage rate is Rs: 40 per hour

and the marginal product of the 9th worker is Rs. 20. If hiring the 9th worker adds

Rs. 10 the revenue should this worker be employed- 7 Why ?-

““LAC is tangent to minimum points of al short run_cost curves.” True/False.

Explam
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(7) LAcuﬁwamaﬁéwﬁ@aﬁmWW@ﬂ%mﬁm{
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With the help of indifference curves show that positive income elasticity of demand is
not the only condition necessary for an inverse relationship between pnce ofa commodlty

and quant:ty demanded ? : ' ‘ -9
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Or
(3reram)

An individual’s mcome is Rs. 120 which he spends on two commodltles Xand Y. The -
price of X is Rs. 20 and the price of Y is Rs. 10. The followmg table glves the individual’s
TUx and TUy schedule :

Qe Tux TUy
o 16 | -
2 ' '30' 21
3 2 30
4 52 38
5 60 45
6 " 66 51
7 70 56
8 B 60

P.T.O.
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() - How many units of X and Y should he consume and why ?

() What change will you recommend the consumer to make if the price of X

falls ? Explam why 7 : 5+4=9
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Qo TUx | Tuy - '.
1 6 11
: .30 2l
3 a2 30
4 ) 5 | 38
5 60 45
6 66 | 51
;o o 0 56
S . | 0
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Efficiency cannot be achieved whenever private and social costs or benefits differ.

Discuss' . _ 6
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How does : a firm decide on the optimum level of output given the production function

“and cost constraints. Explain graphically. o \ 8
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The law of dlmlmshmg marginal returns determines the shape of short run cost curves.

Discuss with the help of diagrams. . 7
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Or .
(m) '
You are an efficiency expert-hired by a manufacturer firm that uses two inputs labour -

(L)-and capital (K). The firm produces and sells a given output. You have the following

information ;-

P, =Rs. 2, Py = Rs. 50, MP, "= 2 and MP, = 20.

PTO.
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PL=2 %, P =50 %, MP = 2 3t Mp, = 20.
) Is the firm operatlng efficiently ? Why or why not ?

'w%wﬁam@mmaﬂ@% 7a=:‘rma=ﬂqzﬁ 7
i) What should the firm do ? S O 443=T.
W W Fm w2
(@) An increa;se in th.e demand for automobiles lowers the price of batteries, engines, brake

systems and other key inputs. Derive the long tun SS curve for the automobile industry.
Explain with the help of a diagram. =~ - '_ : | 8
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(b) Explain the signiﬁcance of price rigidit:y in oligopoly. Explain witﬁ the diagram. 7
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Discuss the long run efficiency implication of monopc;listic competition. -7
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